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TH25EEFE3R4H EERAUVRRENAERRE—ER

SHM D E EREOME EHATEM D E
G iR BT BE BB TRosaEio~12g | TFA22(H283.11LIE) ~ TRIEE
25SEEE 24 ~ 224 [E(H23.3.10)
BRI BT K] 0.014~0.030 0.009~0.046 0.010~0.042
= [E B = [ 0.013~0.021 0.011~0.041 0.009~0.048
2a WaTEE BEER N PN 0.013~0.019 0.009~0.039 0.010~0.045
(AMFEHE)| Bg/m® KHERT KR - - 0.007~0.076
WEERTER L 0.010~0.015 0.007~0.036 0.008~0.040
P MP-1 0.011~0.017 0.008~0.035 0.006~0.030
MP-7 0.011~0.017 0.010~0.028 0.005~0.026
B ST 2 0.040~0.065 0.036~1.0 0.022~0.072
= [ BT = i 0.035~0.050 0.039~2.0 0.021~0.074
2B WatEe =mEE PN PN 0.040~0.049 0.045~0.22 0.023~0.079
(AMEFEHYME)| Bg/m® KEERT R - - 0.019~0.12
PERTERLL 0.029~0.036 0.025~0.072 0.018~0.068
ERE— MP-1 0.025~0.034 0.023~0.061 0.020~0.058
MP-7 0.025~0.033 0.023~0.051 0.019~0.049
LhEm JIE] ND ND —
mEiEET Ei5 ND~0.45 — —
EHET KKF ND ND~1.3 —
H#d BSHR ND ND~1.1 —
JIMRET [UWKRE ND ND~1.3 —
LEHE TdE ND ND~1.3 —
EEE BER R ND~0.21 0.12~580 ND
- =HE E[E 0.32~0.84 0.13~1100 ND
‘sg k4 ~ ~
s PEERT AR 0.46~0.69 0.072~6.5 ND
ARFECA JIIRH _EJIA ND ND~1.6 —
EEN EE& ND ND~1.3 —
tREEFT FFHR ND ND~1.1 —
= MP-3 26~88 6.5~71 ND
BE% MP—8 58~62 40~37 ND
B MP-1 0.010~0.024 ND ~0.36 ND
MP-7 0.011~0.021 ND~0.75 ND
WhE JIE] ND ND~0.25 —
EiEET Ei5 ND~1.2 — —
EHEET KKF ND ND~1.8 —
Hi#d BHR ND ND~1.4 —
JIMRET (WKRE ND~0.35 ND~1.4 —
LEFET TFiiE ND ND~1.8 ND
EEE BER R 0.078~0.47 0.14~520 ND
- EEET EE 0.77~1.9 0.20~990 ND
_ 3 REEHT K% 0.14~0.57 0.20~39 ND
Cs=137 | mBa/m REERT R = - ND
PEERT ARl 1.1~1.4 0.10~7.6 ND
JIR* _EJIA ND ND~2.3 —
EEN %8& ND~0.28 ND~1.5 —
tREEFT FFHR ND~0.31 ND~1.6 —
= MP-3 61~200 10~130 ND
RBEF MP—8 13 26~67 ND
- MP-1 0.027~0.055 0.047~0.55 ND
MP-7 0.029~0.036 ND~1.1 ND
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254 FEE 22U A ~224F #£(H23.3.10)
LWhEh AZE ND ND~ 180 —
LbhEM JIE] ND ND~110 —
EHEET =i ND~37 ND~ 380 —
HHEETD B ND~ 150 ND ~950 —
EMEET R ND ND~220 —
Hifm ABEE ND~ 130 ND ~ 540 —
JIMRET (WKRE ND~28 ND~2100 —
LEPET TFdE ND ~42 ND ~ 240 —
Cs—134 WA %M ND ~ 29 ND~ 390 —
EEET = ND~170 ND ~ 940000 ND
RAEET K¥ 180~950 200~5000000 ND
PEERT ARl 76~320 56~ 8000 —
SRITHT GRIT ND~52 ND~910 —
SRITHT 2B ND~ 140 ND ~ 940 —
JIIRH  EJINA ND ND~620 —
ﬁ%ﬁ%ﬁ & ND~61 130~2900 —
= e T FFER ND~79 ND~ 680 —
kT4 MBa/km2| BER TP iF 2ok ND~16 ND ~ 240 —
LWbhEM JIE] ND ~ 31 ND ~200 —
mEET &2F ND~87 ND ~ 600 —
EHEET Ei ND~430 ND ~ 1400 —
HEHEET R ND~30 ND ~ 350 —
HAimh #BER ND ~ 340 ND ~ 650 —
JIMRET ILWKE 55~91 51~4000 —
LEFET FiiE ND~120 ND~ 340 —
Cs-137 e ND~77 ND~770 —
EMET ER 83~410 63~ 1000000 ND~0.13
REERT X% 440~ 2300 380~5600000 ND~0.15
EEET ARl 170~660 61~12000 —
SEITHT GRIT ND~ 150 ND ~ 1900 —
EIIHT 2B 120~300 180~1100 —
A _EJA ND~15 ND ~ 880 —
EEH MlE 140~ 260 210~4200 —
REERT RFHR ND ~ 200 ND ~ 990 —
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LWhEm AZIE 100 — —
HEHEES ER 2300 130~4400 —
HHET EiF 3800~5100 5100~9200 —
Hit #REE 570 — —
Bt & 220 560~ 1300 —
NZET IWKE 2100 — —
[GEFAT T4bE 260 180~2100 ND
BER KE 1200 1800~ 3800 ND
EEE E T /NE 4000 5200~ 12000 ND
mE= KEEAT KR 65000 90000~ 230000 ND
FEERT ZRLL 12000 2700~43000 ND
5&515;4{:&%1##% 740 790~ 1600 ND
N JIRF EJIIA 270 — —
Cs—134 Ba/kgid BRH 22 2000 — —
EEH R 5600 — —
REERT ER 8900 — —
EREEH foZF 11000 — —
REEFT RIE 6000 — —
A 130,000 130000~ 330000 ND
EEE— REERTTFE.L 35,000 41000~ 78000 ND
REEETEE)I| 40,000 34000~ 69000 ND
WEERTERLL 2,300 1400~ 2000 ND
Buth A 490 1900~ 3200 ND
EEE— BEELEE 1,400 1200~ 2100 ND
=MET{AEEH 680 620~ 2600 ND
Rt = [EBT AR L 2,900 1900~ 9000 ND
LWhEm AZIE 230 — —
EHEET ER 5900 190~ 6200 —
HEHRET ES 9500~ 12000 9000~ 14000 —
Hiih &REE 1200 — -
Hith &8 570 1000~ 1900 —
JIMRET IWKE 5300 — —
LEFET TdbE 630 170~ 3200 ND~8.5
BER KE 2300 2000~ 6800 3.7~9.4
EeE E [T /NE 9700 9400~ 17000 ND~5.9
M jtﬁ‘EFBT xR 160000 100000~ 310000 ND~4.6
FEERT ZRLL 29000 3100~59000 5.7~16
5&5133;1:113%113*% 1800 1200~1900 35~15
N JIRF EJIIA 670 — —
Cs-137 | Ba/kegi® BREH 22 2600 — —
EEF R 14000 — —
EREERT ER 21000 — =
EREEFT Bk 26000 — —
REEFT RIE 14000 — -
iy 310,000 220000~ 680000 7.1~28
EEE— REERTFE.E 82,000 70000~ 170000 2.4~15
KEERTEE)II 97,000 59000~ 100000 11~14
PERTER L 5,700 2600~ 3700 9.4~15
iy 1,200 2900~ 7000 1~12
A BEREE 3,400 1900~ 3600 6.3~12
= EmBT{AEER 1,700 900~ 4800 8.4~12
= [iE] BT T ARLL 7,100 2900~ 15000 7.8~15
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EHEE ND — —
B4t ND — —
M3 ND — —
Wb ND — —
[LEF ND ND ND
BE ND — ND
Cs—134 Ba/t | BEE = — — ND
KEE — — ND
WEE — — ND
SRIL ND — ND
JIA ND — —
BE ND — —
BREE 0.097 — _
EHEE ND — —
H £t ND — —
JIMR ND — —
LhE ND — —
N5 ND ND~0.050 ND
BE ND — ND
LK Cs-137 Ba/l | BEE =R/ — — ND
KEE — — ND
WE — — ND
jyan ND — ND
JIIA ND — —
BE ND — -
EREE 0.22 = —
LhE 0.60 — —
S ND — ND~0.82
H¥t 0.63 — —
& 0.72 — —
LEF 0.57 ND~0.69 ND~1.0
BE 0.74 — ND~0.98
H-3 Ba/? | RER = i — — ND~0.99
JIA 0.45 — —
KEE — — ND~1.2
WE — — ND~1.1
jyan 0.62 — ND~1.0
BE 0.63 — —
EREE 0.87 — —
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254 FEE 22U A ~224F #£(H23.3.10)
F—F)mkkO ND~0.80 ND~0.31 ND
F—F) kO ND~0.24 ND~2.4 ND
F—F)EKO ND~0.47 ND~0.96 ND
e F—(R)HE ND ND ND
meR xR -BEJIH ND~0.094 ND ND
ﬂﬁﬁﬁﬁmyliﬂh ND ND —
F_ (kO ND ND~0.20 ND
Cs-134 Ba’2 %= (3)LHEKkO 0.079 ND~0.065 ND
Rk O 438 2.0~45 ND
BESE—| mRvkOfhh 0.20 ND~76 ND
JEok O 445E 0.54 ND~8.2 ND
HokO 0.050 ND~0.36 ND
wmEE mEpoka 0.053 ND~0.35 ND
deRoka 0.11 ND~0.23 ND
F—(F)EpukO 0.058~1.8 ND~0.59 ND~0.002
F—(F)oko 0.14~0.56 0.17~5.0 ND~0.003
F—(F)EKO 0.073~1.1 ND~2.0 ND~0.002
EEE F—RK)HFE ND~0.12 ND~0.082 ND~0.002
- FIR-BEJI ND~0.18 ND ND ~0.002
PEE -gIA)IF ND~0.19 ND~0.10 —
FZ(F)EpukO 0.17 0.14~0.39 ND~0.003
Cs-137 Ba/2 & —(3)ItHkokn 0.18 0.12~0.14 ND~0.002
Rk O 9.7 46~72 ND~0.003
BESE—| FERukOfE 0.51 ND~110 ND~0.003
JEok O 4R 14 ND~13 ND ~0.002
BoKE 0.15 0.11~0.70 ND~0.003
BEEEC mEpoka 0.16 0.15~1.1 ND~0.003
Jeikok O 0.23 0.079~0.47 ND~0.002
F—(F)EpokO ND~2.4 ND~0.91 ND~0.55
F—&F)Eoko 052~25 0.49~1.3 ND~1.2
F—(F)EKO 0.40~6.2 ND~4.9 ND~0.58
EEE F—FK)HE ND~0.58 ND~0.53 ND~0.67
- KR -BEJIH ND~0.53 ND~0.33 ND~0.41
WEE-JIHE ND~0.58 ND ~0.36 —
3 Bq/0 F-(FEmpukO 0.53 0.41~0.56 ND~0.76
FZ(E)IEoko 0.54 0.41~0.56 ND~1.1
Ee sk O 54.0 9.6~180 ND~0.67
BESE—| ERvkOfh ND ND~6.8 ND~0.55
JEok O 4R 3.0 ND~9.8 ND~0.62
BoKE ND ND ND~0.57
mEE= EmKO ND ND ND~0.77
ek ND ND ND~0.47
E—(F)mkukO — — —
F—F)deokO — — —
ﬁﬂ( *E% L?— %_(%)Hy7k a _— — —_
) 9&7R'§E\J||/¢' — — —
WE-jIEIIAF — — —
FZ(F)mkukO — — —
Sr89 | B/t %= GoiLikD = = =
Bk O AT - -
BEE—| mRukOfh HI3E - -
oK A 445E HI5E - -
kB HI3E — —
BEEZ kO HI5E — —
ek O HI3E — —
F—FEmpukO 0.69 0.014~0.093 —
F—(F)dtrokO 0.021 0.28~0.78 —
EEE F—(F)EKO 0.005 0.015~2.9 ND ~0.002
(% ew | B—_(RE 0.014 0.002~0.26 -
) KIR-BEJIH 0.001 0.001 —
W -BIHE % 0.001 0.001~0.014 —
F_(F)mukO — — —
Sr90 | Ba/t %= (3 ok D = = =
Bk O B - 0.001~0.003
BEFE—| mivkOfa HI5E - 0.001~0.003
Rk O 4 FAITE - -
kB HIE g —
BEEEC Emsoka HI5E —
kO HIE g -
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F—FmpukO ND ND -
F—F) kO ND ND -
maE F—(F)EKO ND ND -
_ = 2 & F—FK)HE ND ND -
Pu-238 mBq/Q (h%%i FR-EE ND D —
PEE-giIE)IF ND ND -
F-(FmEpukO - Z -
FZ()IokO - - -
F—(F)mkukO ND~0.010 ND~0.014 -
F—F)dokO ND ~0.006 ND -
maE F—(F)EKO ND ND -
_ TN F—FK)HE ND ND ND ~0.009
Pu-239+240| mBg/¢ (h;ﬁi Ry ND D =
PEE-gIE)IF ND ND -

FZ(F)EpukO

E_(F)AtHokO
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FR25F10~12 254 EEE PR K] ~ 224 [5(H23.3.10)
F—(F)mEpukO 210 116-210 ND
F—F) kO 120 210-286 ND
F—F)EKO 440 450 ND
= F—(R)HE 72 60 ND
Baskeiz | SR i 60 45 ND
Cs—134 I - il 1| 26 61 —
F_ (kO 120 96-227 ND
FZF)derokO 51 47-74 ND
o | smmes | BBUKOfHE 120 110~1200 ND
Ba/keilk | R IR O R 120 200~710 ND
[ Bk 110 55~ 200 ND
Ba/kelll | BRE = — kD 41 62~ 140 ND
F—(F)mEpukO 500 234-450 ND
F—(F)Hoko 280 460-582 ND
F—(F)EKO 1,000 970 ND
= F—(RK)HFE 170 130 ND
Bo/ke¥ | BBR — = liw 140 97 ND
FEZ(F)EpukO 290 210-469 ND~0.3
FZ(E)IokO 120 100-151 ND
o | smmes | EBUKOfHE 290 210~1800 ND ~0.65
Ba/kell | BRE — —ypkomE 280 410~1100 b
) ke 250 120~ 360 ND~0.61
Ba/keilk | BB = Jeikok O 92 120~250 ND~0.62
F—F)mkkO — — —
F—F) kO — — —
*E%L?_ %_(%)quzku — — —
_ = E <t E—F)ihE — — -
e D I S R N = = =
WEE-JIE) — — —
FZ(F)mkkO — — —
FZF)dtpokO — — —
F—F) @Bk ND ND —
F—F)droknO 0.24 ND —
EaE F—(F)EKkO 1.2 0.89 ND
_ = B2 =t BE—(K)HE 0.19 ND ND
Sr90  Ba/kefid] (*%%i JiR - BRI ND ND ND
WEE-JIE) ND ND —
FEIZFE)EBokO — 0.21 —
FZF)dtrokO — ND —
F—(FmrkokO ND ND -
FE—(Ftoko ND ND -
cmE | F—GEEUKO ND ND -
Pu-238 Ba/kefzH (*1%%%; L ND ND -
) KiR-BENH ND ND -
WEE-BTHE & 0.02 ND -
EZ(F)mkkO - - -
FZF)dtrokO - - -
F—(FmrkokO 0.18 0.08-0.12 -
F—(Ftroko 0.32 0.11-0.32 -
maE F—(F)EKkO 0.27 0.13 0.15~0.43
_ = £ =t BE—FR)FE 0.52 0.39 0.28~0.48
Pu-239+240 Ba/kefif “‘;ﬁi R - BEJI] 5o 0.34 043 -
WEE-BTHE & 0.41 0.37 -

(R mmKA
E-(GdtrokO
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WLWhEm AZE 19 — —
EHEET BER 29 53~110 —
H¥ith #E 26 — =
JIRET (LAKRE 140 — —
LEET EdeB ND 39~17000 ND
BRI KE 300 130~ 14000 ND
EEBT FERL 66 — ND
BEEE KEERT XiR 3,700 5100~ 210000 ND
RAEEET KIIE 440 700~61000 ND
Cs-134 | Ba/ke®E WEERT AR 1,600 1600~ 150000 ND
JRITHT #iHiE 78 510~20000
JIIARAT EJIA ND — —
BEH %& 330 — —
BREEAT BRE 330 — —
REENT EIE 430 — —
- MP — 315k 2,900 890~ 27000 ND
BEEEGMNA 2,800 3900~ 220000 ND
Eas— | BERTN 84 320~ 12,000 ND
W JLER R 85 90~17160 ND
LWhEH AZE 41 — —
EHEET FR 81 93~550 ND~0.03
Himh nd 55 — —
JIHRET LWKRE 310 — —
[LEFET _EdbiE 29 61~ 19000 ND~1.2
BER KE 660 220~ 15000 ND~0.92
EEE AL 170 — ND~0.04
=mEE REEHET KR 8,400 7700~ 230000 ND~0.07
KEERT KIIE 990 1200~ 68000 ND~0.08
Cs-137 | Ba/kg4 PEERT AR 3,900 2600~ 170000 ND~0.14
SRITHT ZiitiE 200 890~ 23000 ND~0.07
JIIR*H _EJINA 16 — —
EEN EE& 850 — —
BREEAT BRE 770 — —
REERT RIE 980 — —
EEE— MP — 315k 7,000 1600~ 39000 ND ~0.04
BEEEEMNA 6,200 7700~ 310000 ND~0.14
EEE— BEERATRE 210 500~ 17,000 ND ~0.05
= — JLiER {FHE 240 200~22,840 ND~0.06




